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Part A - General Hindi & English

1) ‘o e gy A1’ g AT | e Rdwur-ag #7
ANE -

A) sTdaTR®

S RBCINEIEED

C) SeqraTs®

D) TuraTa®

2) "Rt s sewifer i & @ @ s
¥ iHaTHt 0% §?

A) fae

.B) WgRT

C) g

D) &=

3) ‘Fg ¥ FIET g W A 98 §IH FE_Haal
1" aTHT § Tt qETaL T Aal 4 g -

A) FAT F9AT

B) a5 S g

C) 1] THTH FLAT

D) &eTE | T=AT

4) ‘AT T AIHTE FT TG AT+ AAT-SHT 7T
Fra 1 g &1 AT it ok ¥ v wd grer
21 -

A) TF % i a1

B) &% 9ma= #i fa=gt ahrn

C) ATt T g1 & TET Aol

D) z&1 FreAT @ of Ashrerar

5) offf s Aifyr faffeT & 7 fm o
qtar a5 87

A) FTEadt

B) #T&<

C) t

D) st

6) Frsferfer e ar £t fmm a1+ 82
A) &1 fee forgar 21

B) wefi 52 w2 2

C) gLer qTHT 35T 2

D) Tif2a awrem #t faer w1 2

7) ‘" 7 fae oreg FAT FIT?
A) feast

B) =f@

C)zH

D) z&X

8) Faforfer qemast it 37 @l st & arg e
F a1 AT F I+ -

1. fieg w9 fit  |a. ROw w7
2. 98T qTHT 9897 |b. e =TT

3. T fiAT c. At gAT
4, AT ISAT (d. = &Y giwAr
A) 1-a, 2-b, 3-c, 4-d

B) 1-d, 2-c, 3-a, 4-b

C) 1-c, 2-a, 3-b, 4-d

D) 1-d,2-¢,3-b,4-a
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Q)W@ﬁaﬁ&ﬂwﬂﬁﬁ
FIF-HT W T §2

A i gE g

B) g3

C) W #

D) Sw wafy

@El'mmﬁ

10) *& ST ¥ W Y Frer Ao T 1 6 A1y
¥ -] W TN §7

A) ¥ T9g

B) ¥ e

C) ST §

D) R &=

11) Hrege Tite #1719 3@ @7 &1 59 A #§ e
TR AT 872

A) HTEH

B) itw

C)z=wrg

D) #=TT

AT=E7 F A ¥ 9% A A Ry g it FIWwW
gt et wr e &

AT ¥ 7EF ATATT FHEAT T (FAT) Bt 8
FE A ATFHAF FION F qrow grar g, o F
AEET et wwwr & TSt & e s ot @)
gt 7ut g & T anr qu ot & si e
TFAT 7EF 1M wgrEt 1 @t 0w s Ak AT ¥
I &, A7 TET wAT AW & grav &, FiH a9 b
TR £t 1 ZAT T/ T FY A qgHT ZT § Sl AT
1 foreare 2 1 A 20 T &) s afE SR

F9 Y AT B
Wmﬁm#m%ﬂﬁw%ﬁ
iy s ardrefiter 1 et e & o # off
W*ﬁﬁwﬁm—aﬁmmﬁﬁ
dwraaT A et 81 Tar zafer e 8, #tE o
Rurera ¥ 7= Ig awt S aret & 7 o g §)
Ht (qréer) % @t ¥ T TATC F AT BATT F FE
Redt # zraraet $t ararar a4 dEar 3@ )
Rerera ¥ 7, @ A1 & TEATe AT % 7 fawet
g Tt & Frkae o ks @ g, Saa ew s A
FAEafagt F1 AT THET BraT 21

T 9T T g 8 T T g A H A
YT & s ArEETHAT S 3 THT AT awAr
&1 ST, ST e i St 2, o 5 A
Zo (gt areafaat) it e i gt 21 g|ien
T Y AT T a9 F=aT a4 g, 3
e & TFAT, ST ZH FAT A SS-FIE T H AHS
TRT SRS FT G &1 A FT UFA F 0 T
FgW g gt ) g9 Ug, S F || 4T
sAeAdfie |a F1 @A AT SHEAdE STt 8
AT FLH TEAT AR L, AN F WG T F9C
et =J1fRe a1 = [T @ IikRw e,
ggasfier a1 Saemefter qaTat #T FETEHES ¥ | oK
FATHT AT HSTRT FT AT TEAT AT

12) fAsr F & BT-9T TF I9TT 1T FFAFA F ™C
TR 87

A) ¥ T TF OF W T @ F AT

B) & % wfta sqemefier qamel w7 ey 3
a7

C) =TT H e e 3 7wy srfverrwrst A
wferfera s

D) W?ﬁtﬂm%mﬁaﬂrmml
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13)wﬁm-maﬁwﬁmm*m“ﬂ
TR WA 7

A) TRt aTE

B) W AT

C) wdf fRwer

D) & €T

14) Fry YT % o AT H T9E H A 2

A) ¥ 7 St Iy At A T A # AE I €
B) ¥ & St 9y auf s AT & & I E)
C) ¥ 3 S wgrEt 1 BT W I

D) & o R Ty A wraT S 2l

15) STt fRrsret Y aorg & ST F I AT AT
w4 gHY Agl Il g,

A) RIFATIATIIGATE

B) FifF 3mT Faw Hag W AT

C) =4if¥ g 30T aui § qid & AT &

D) F9if¥ Ig Fa=r a6 g F I 3T aidl g

16) fsfatad # & $iF a7 & g0 it v T8
T E?

A) FAM

B) sfta-siq

C) =@t

D) ZrE™A

17) "i=al #1 377 a9 aF a9 § T@A1 9=’ I
¥ TAiTH 157 Y STg F1A-A1 AT 5% IIYT
A) g
B) T7aw
C) 7wy
D) srrer

—

18) 'R F Freor A0k A et gy sy Ty
%Wﬁﬁmﬁwﬁmmm%
&Y HHCT 87

A) aTEe

B) auf

C) FTeft HeT

D) 4=

19) fwferfae arerrt # & & a1 Fi9-a1 22
A) SEHI To1 Fgh THAT A= 2

B) SHHT FHT FgFL THIAT SATEAT 21

C) T8t FLTr==1g arara<or Sufeaa 2

D) 7 3 fAgmr & 9 2

20) 51 & & | 9158 & (A et it g
A) &g
B) 9t

C) IT+7
D) faamT

21) ‘T et =TS F FH FaT g o
ATHITF & T 872
A) e gie Yast, - st w1 37
B) Fg & eTelt T g LT F@AT
C) areft affaT =T FX, 7@ T F g IW FAF
gt
D) & % T T ST
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22) fe ATt § / I v He-ay 87
A) WW%WWW@
B) Ti-g=aT 2T &1 T Y 70

C) e R AT F ofi= % e

D) Earastt =TT I ALY AT

23) e & & AT 1 e 8-
A) STEX

B) aPard

SEIRRITE]

D) 3T

24) =T & F1-97 AFeq Fearara® fFe 32
A) e

B) a7 goiF

C) W=+

D) 7T

25) F:-4 faseq w1 Reim-sier qafera &Y 82
A) FTa-see

B) #TT-fAvT*T
C) arez-fATE=y

D) araT-gex
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26) Choose the meaning of the italicized idiom

used in the given sentence. After marriage the
friends met each other once In & blue moon.

A) frequently

B) sometimes
C) once in a while

D) daily

27) Identify the part of the sentence that has an
error: He told his friend that he walks twenty

miles daily for his school.
A) He told his friend

B) that he walks

C) twenty miles

D) daily for his school

28) Choose the sentence which has been
correctly punctuated:

A) The woman bought many vegetables:
brinjals, potatoes, tomatoes and

cucumbers.

B) The woman bought many vegetables;

brinjals; potatoes; tomatoes, and
cucumbers.

C) The woman bought many vegetables,

brinjals, potatoes, and, tomatoes and
cucumbers.

D) The woman, bought, many vegetables.

brinjals, potatoes, tomatoes and
cucumbers,

—

29) Fill in the blanks with the correct option:

Exams today for the degree students.

A) begin

B) begins
C) began

D) beginning

30) Identify the part of the sentence that has an
error: The safety mechanism failed and the
building catch the fire.

A) The safety

B) mechanism failed
C) and the building
D) catch the fire

31) Choose the meaning of the italicized idiom
used in the given sentence. He did all the
formalities quickly and didn't /ef the grass grow
under his feet as he sold his property
immediately.

A) do the work slowly

B) do hard work

C) hasten in doing the work

D) compete in work

32) |dentify the Antonym for the word - mixture -

A) ratio
B) separation
C) solution

D) ingredient

Page 8 of 48
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33) Choose the correct sentence from the ones
given below.
A) My friend bought blue, square, huge
antique, diamond earrings.
B) My friend bought a pair of huge, square,
antique, blue diamond earrings.
C) My friend bought diamond, blue, antique,
huge, square of earrings.
D)My friend bought earrings, diamond!
Antique! Huge, square, rare.

34) Identify the synonym for the word - recoil
A) rewind

B) return

C) backfire

D) launch

=i

35) Identify the synonym for the word - benign
A) favorable

B) antagonistic

C) indifferent

D) relaxed

36) Choose the meaning of the italicized idiom
used in the given sentence. He has been jobless
since the factory closed but his wife works as a
seamstress and keeps the pot boiling.

A) makes sure that the family is not starving

B) continues to light the gas for cooking

C) avoids the pot from over flowing

D) gets annoyed if the pot is kept idle

37) Identify the synonym for the word - freight
A) fear

B) shipment

C) locomotive

D) movement

Read the passage and answer the following
question.

The Komodo dragon (Varanus komodoensis),
also known as the Komodo monitor, is a species
of lizard found in the Indonesian islands of
Komodo, Rinca, Flores, and Gili Motang. A
member of the monitor lizard fami_lyﬁga;anidae.
it is the largest extant species of lizard, growing
to a maximum length of 3 metres (10 ft) in rare
cases and weighing up to approximately 70
kilograms (150 Ib).To the natives of Komodo
Island, it is referred to as ora, buaya darat (‘land
crocodile’), or biawak raksasa ('giant
monitor’).Komodo dragons were first
documented by Europeans in 1910, when
rumors of a "land crocodile” reached Lieutenant
van Steyn van Hensbroek of the Dutch colonial
administration. The ﬂrét two live Komodo
dragons to arrive in Europe were exhibited in the
Reptile House at London Zoo when it opened in
1927. The Komodo dragon was the drivi-ng
factor for an expedition to Komodo Island by W.
Douglas Burden in 1926. After returnin"g with 12
Mecimens'and two live ones, this
expedition provided the inspiration for the 1933
movie King Kong. It was also Burden who

~Page 7 of 48
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coined the common name "Komodo dragon".
Researchers have isolated a powerful

antibacterial peptide from the blood plasma of
Komodo dragons, VK25. Preliminary results of
these tests show that DRGN-1 is effective in
killing drug-resistant bacterial strains and even
some fungi. It has the added observed benefit of
significantly promoting wound healing.

38) The named Komodo dragon was coined by

A) Douglas Burden
B) Hensbroek
C) Gili Motang

D) Europeans

39) DRGN - 1 is obtained from the Komodo
dragon's

A) peptide

B) plasma
C) saliva

D) nails

40) The Komodo dragon is basically a

Read the passage and answer the following
question.

Scholarly interest in earthquakes can be traced
back to antiquity. In 132 CE, Zhang Heng of
China's Han dynasty designed the first known
seismoscope. The Lisbon earthquake of 1755,
coinciding with the general flowering of science
in Europe, set in motion intensified scientific
attempts to understand the behaviour and
causation of earthquakes. From 1857, Robert
Mallet laid the foundation of instrumental
seismology and carried out seismological
experiments using explosives. He is also
responsible for coining the word "seismology".
Seismology has revealed much about the
structure of the Earth's core, mantle, and crust.
The English seismologist Richard Dixon
Oldham’s studies of earthquake records in 1906

led to the discovery of the Earth's core. From

studies of the Croatian quake of Oct. 8, 1909, -

the geophysicist Andrija Mohorovicic discovered
the discontinuity (often called the Moho) that
separates the crust from the underlying mantle.
Today there are more than 1,000 seismograph
stations around the world, and their data are

used to compile seismicity maps.

A) crocodile
B) dragon 41) The word "seismology" was coined by
C) lizard
A) Andrija Mohorovici¢
D) giant
B) Zhang Heng
C) Robert Mallet
D) Richard Dixon Oldham
Page 8 of 48
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42) The discovery of the Earth's core was a 46) Choose the sentence which has been

result of sludies by correctly punctuated.

Ay Bncirlje’ Moherovitio h We stayed in Jaisalmer, Rajasthan: Indore,

B) Zhang Heng Madhya Pradesh: Surpur, Karnataka:

C) Robert Mallet before going to Delhi.

D) Richard Dixon Oldham B) We stayed in Jaisalmer, Rajasthan, Indore,
Madhya Pradesh, Surpur, Karnataka,

43) The first known seismoscope was designed beforsigolag 0.0kl

by . C) We stayed in Jaisalmer, Rajasthan; Indore,

A) Andrija Mohorovici¢ Madhya Pradesh; Surpur, Karnataka;
before going to Delhi.

B) Zhang Heng

D) We stayed in Jaisalmer: Rajasthan, Indore:

C
) Robert Mallet Madhya Pradesh, Surpur: Karnataka,

44) Identify the Antonym for the word - disrepute 47) Identify the Antonym for the word - debase
A) esteem A) halt
B) shame B) exalt
C) blame C) vault
. D) joy D) somersault
45) Identify the part of the sentence that has an 48) Identify the part of the sentence that has an
error:The fabric was so soft that it passed in the error: All the animals ran for safety when the lion
finger ring.

roars in the jungle.

A) The fabric was A) All the animals

B) so soft that B) ran for safety

' C) it passed C) when the lion roars

D) in the finger ring D) in the jungle.

Page 9 of 48
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49) Identify the synonym for the word -
regurgitate
A) gargle
B) swallow
i 51
C) reiterate
the
D) vomit
Fa
50) Identify the Antonym for the word - postdate ‘M
A) update All
Pr
B) outdate "
C) antedate "
D) sedate
Ju
‘W
A)
B)
C)
D)
52
R!
bre
in-
Wi
A)
B
D
“Pag
—
Page 10 of 48
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Computer knowledge

51) Read the list of facts displayed below and choose 51) = &t & T g=ft %1 w sit wét fed #7 =77

the appropriate conclusion. F i
‘M lives in a flat which is not insured M TF FXe § @ 2, o oA B ger &
Al the flats on Barrow Road are insured with &%t 7rs & mft et &1 ftar “fifdaw w37 F amr &
'Premium Cover' T T et U 3 s Wi F i S R
Mr and Mrs J' insure their flat with 'Platinum Risk'  &T a1a FZamr 2

‘W lives in a flat on Barrow Road ‘W' AT T & UF T F Tl &)

Judgement : Ao

‘W's flat is insured with 'Platinum Risk' W G Fr T =iy e F A FE

A) True A) FET

B) False B) e1q

C) Uncertain C) &t 78 &4

* D) Irrelevant D) faEa

52) There are six family members X, Y, Z, P, Q and 52) "RaR #sga==a &X, Y, Z P, Q R Pwius
R, in which there is one married couple: X is the faaTfRa ST=T&1 X, P % AP YRTAEZ QN
brother of P, who is the daughter of Y. Z is the sister- % 21 R, ZFT ST &1 Y, Z ¥ 7 &)

in-law of Q. R is the brother of Z. Y'is the sister of Z. X Ht a1 17 &2

Who is the mother of X?

A) Z
A Z B) Q
B) Q C)R
C)R D)Y
D)Y
Page 11 of 48

- o R ———


https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

17H

—
17=
53) Read the list of facts displayed below and choose 53) = & wE = ;-ﬁﬁ F1 T2 3T q@ Ao 77 T
the appropriate conclusion L 55
ye-
Facts: ¥y an
All salespeople working in pension sales have an Yo fey 7f HTH T AT T AR FHRET F ooy AU
insurance qualification ST AT gl 25
Defender Insurance Ltd sells only pensions and %z Zeavim for. €t Fawr o et 2 97 39 T 60
employs salespeople e b=t 3 We
P is a salesperson working in pension sales P UF 0 w=TH &, Y Yo Few # F AT 3 '{9=
L sells mortgages L 7 dr=rar &1 f)b
B)
Judgement: e &
L has an insurance qualification L % 978 U S5 Aar 2 D)
A) True A) TEt —
B) False B) e 56)
C) Uncertain C) 7 %g @+ cor
D) Irrelevant D) @& cor
sel

54) Study the given information carefully and answer 54) &t 1< STAFHT F7 SATTTAF SeqaT w2 A A KT g

the question given below: MY T FTIT & exz

Titu is toward the south of Sonu and Ranu is towards &g @ F affmr it K & iR T A F @ 7 ST &1

the east of Sonu. T % aw=d § Az Fa Rew & &2 "Col

In which direction is Titu with respect to Ranu? l. A
boy

A) South-east A) sferor-gd | [

B) North-east B) SW-qd .

C) South-west C) sferor-afEm

D) East D) @ A)
B)
C)
D)

Page 12 of 48 i -F-’EEE
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55) To qualify for job P, the maximum age can be 30 55) =t p % far srgar st #t 3 forr, e 7w
years, 10 standard marks should be more than 50% 30 atf g wreft 8, 10 f % aiw 50% # afirs 2rr 3w
and work experience should be at least 3 years. To i Frafqwa & & 4737 3 atf 1 BT R A Q F
qualify for job Q, one should have a minimum age of foT sifar s #73 ¥ fiv, aa 25 7 £ v 3
25 vears, 10thstandard marks should be more than =i, 10 #F ¥ s+ 60% & #fo=F Zr =rfen AT FA A
60% and work experience should be at least 1year. F5 1 af %1 Frafgwa g7 anfzw) a7 % 10 #F & 52%
Wayne has 52% marks in 10" standard, age is 27 i, sat 39 27 atf st gy qr 5 ot FTATTAT LEL
years and no work experience. For which of these &1 g7 & ¥ ft it 3 forg oz 7177 27

jobs does he qualify?

A) Only P A) Fa P

B) Only Q B) ¥+ Q

C) Both Pand Q C) P 3fir Q=T

D) Neither P nor Q D) AFTP A AE Q

56) Given below a statement followed by three 56) = uF FuT AT I a8 A7 fAed R 1w &
conclusions. Choose which all ST e 7 507 H06 9 6 S raw/Fad ey 3
conclusion/conclusions follow the given statement by T FT+ T ST FTAT 2/ &l

selecting an appropriate option.

T TOT F W7 A ATer 50 FTAT A F FaT 40% ST

Statement: Out of 50 students who have attended the T ‘El
exam, only 40% have passed.

R
Conclusions: |, I g1 ATt §, TEfHRET | AT ASS A
. Among those who have passed, there were more |I. 20 arEt F T St 1
boys than girls N1, forser o, Sfiol sfdere srferes om

II. 20 students have passed the exam
lll. Last year the pass percentage was more

A) Faet || STTHIOT FIAT §

A) Only Il follows B) 11 3/ 11l SraTor F3d &
B) Il and 111 follows C) #1§ oft srerer 7 wear
C) None follows D) #eret | SIEOT FLaT

D) Only | follows
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57) In the following questions, mark: 57) Frafarfer o #, Rrfera 7% 50) V
1, if statement | alone is sufficient to answer the 1, 7f2 Fu | a3y ) T a7 99 3 ¥ fro gata & take
Bivia. 2, 2% e 1 st e e oy Pty o
2, if statement Il alone is sufficient to answer the 3, 72 Fw | < 1| St T frerrre, arvreaT #1 SEC R e
problem. ¥ form quiy & B) M
3, if statements | and Il both taken together are 4, 7f3 Fuw| 3;ﬁ1: Il =T e, greETF IgceT s fom  C) N
sufficient to answer the problem. Tty 7 D) P
4, if statements | and |l taken together are NOT
sufficient to answer the problem. 3a 3T 12b F7 e w=ar 22 -
What is the average of 3a and 12b? :1 Z;‘::;:Tm et RO ::lw
l.a+4b =20 ' =
Il. a and b are posiltive integers whose sum is 8. Eight
A) 1 A) 1 arou
B) 2 B) 2 ot
c) 3 c) 3 ey
D) 4 D) 4 :sm:;:
How
58) In the following questions, mark: 58) fRaferfea wa #, Ffeaa #¢
1, if statement | alone is sufficient to answer the 1, 7% F97 | Aot S THET BT I A F forw vAiw Bl e
problem. 2, 7 T Il ot € e A1 IR R F R Ry ) ¢
2, if statement Il alone is sufficient to answer the 3, 72 Fore | o0 || ST ATy T, FHET F7 9L aA C)1
problem. ¥ forg 9t ) D)1
3, if statements | and Il both taken together are 4, afe F9 | R || | freme, FweT FT I A F forg
sufficient to answer the problem. ERILE E
4, if statements | and Il taken together are NOT
sufficient to answer the problem. AT P ¥ &eqT g7
Is P an even number? 1. P, 3 %7 [0 &)
. P is a multiple of 3. II. P % & i e g
Il. P has exactly three factors.
A) 1 A) 1
B) 2 B) 2
C) 3 C) 3
D) 4 D) 4
J'P‘ﬁ
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59) Which of the following statements can be used to 59) Ryfyfaa # & #t aT Fa7 78 aweqT 9 fvfg
take a decision on this problem: Who is the mother of % Ry sxdgrer iy w7 et &: wrerame 1 77 #47 87
Salman?

A) Devi is only aunt of Salman A) 3t s i o aie
B) Maya is sister of only maternal aunt of Salman  B) wray ey it wFHr e £ 787 §
C) Noora is brother of only maternal aunt of Salman - C) sy ey 1 wawT e F1 9TE &
D) Problem cannot be solved D) wrere el i o wwA &

60) Study the following information carefully and 60) Rwferfe gemmsir 1 SqTgA® ALAAA FL A A=
answer the question given below: fw o g 7 S F:

Eight persons A, B, C, D, E, F, G and H are sitting srs =1t A, B, C, D, E, F, G A H OF AT 29 &
around a circular table each facing towards the T @i &% & sl welrF =t % 1 AT g FF BT Q)
centre. H is third to the right of E who is an immediate H, E % arff air< & dfrer<1 &, 11 D %7 fsheaw TSt 1 E,
neighbor of D. E is second to the right of C. Bis on C % g/t aiw & gy #aw 9 21 B, G % & arf 97w
immediate left of G. D is second to the left of Bwho 1 D,B ¥ arff ik g1 8, ST F F 270§ H W
is fourth to the right of F. gl

How many persons are sitting between Aand F? AR F ¥ &t ey aafs 35 82

A) Zero A)
B) One B) T%
C) Two o

D) Three _’___D).eﬁqf-

“Page 15 of 48
-~



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

17 H

17k

61) Study the following information carefully and
answer the question given below:

Eight persons A, B, C, D, E, F, G and H are sitting
around a circular table each facing towards the
centre. H is third to the right of E who is an immediate
neighbor of D. E is second to the right of C. B is on

61) Frerfarfera gl #1 eaEF srera FL A A 63
R T oy T I the

a5 =5 A, B, C, D, E, F, G #tHus ge ¥ [ 2
AT A B A s S S B H, E v e a e A
& St D %7 fheaw 9216 21 E, C % T & g0 #9194 Je
3B GHATAE D, BF I A @A LAFFa O

immediate left of G. D is second to the left of B who & =T I Al
is fourth to the right of F. e
Who is third to the right of G? G ¥ grl & f1a 19 87 p
u.
All
A) E A) E
me
B) F B) F
C) G C) G
A)
D) H D) H
B)
C
62) Given below a statement followed by three 62) ¥ T FuT o SEF ae 7 Aol Reaw d
conclusions. Choose which all 3 e 1 =99 55 94 6 I [Fehd [0 :
conclusion/conclusions follows the given statement T ¥ FT FFTI FLAT &/ 2| _
by selecting an appropriate option. 64
FI: AT SAFATF T F G ) Afawd =5 F o R
Statement: Royan is a student of Xavier's school. All =T Rfer ¥ gy ol S fh br
students of Xavier's school passed the exam with Ao lav
distinction. |, Trame F RfEEae & Ay wive Sl ) Hc
Conclusions: I1. Srfaref et §, et Y A9 9ga ST 2

I. Royan passed the exam with distinction

|11, SrfErre w=per StEY sfrsT At o=y = 1 751 2 A

Il. The school fees is very high in Xavier's school B
I11. No other school has the reputation that the Xavier C
school has D
A)-None follows A) 1% ¥t SITETT LY HTaT
B) Il and I)f follows B) I1 3 1l 3raor F7d §
C) Only I follows C) e | T FTaT &
D) Only I follows b D) 3T || Srgereon Feet

Pag

N
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Y 63)Read the list of facts displayed below and choose 63) 3 ot e et 1 o D _—

the appropriate conclusion: -
ey,
%  Facts: | I
0 ; All claims handlers talk to customers aft w=rg Evordf yrE & AT FY
% - Jdoes not talk to customers J ITEHT & ary AET W 2 e
¥  Only administrators do not talk to customers e Drefrfrerer e & AT i TR
All administrators have been with the company for  wvft et ot 3 & 1 : T &
less than one year
e |
Judgement: MWMW%WWﬁ%aﬁE%%
u :
All claims handlers have been with the company for
more than one year
A) True A) ;q—@
B) False B) T\
= C)Uncertain C) 7t g w1
7l ‘
E D) Irrelevant D) e
q '
- - 3 )
64) There are six family members X, Y, Z, P, Q and 64) iRaw #sgaa=a £ X, Y, Z, P, Q¥R ﬁwz Q:
fi R, in which there is one married couple. X is the RETRIMET& X, PFT 9L 21 P, Y M §, Z,
brother of P. P is the daughter of Y. Z is the sister-in- 792 &I R, ZFT#$ 81 Y, Z FT 7 &)
law of Q. R is the brother of Z. Y is the sister of Z. ~ R #T P & 37 Rear 87
How R is related to P?
A) Brother . )k
B) Uncle B) e
C) Aunt Gt
D) son -
Page 17 of 48
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65) Study the given information carefully and answer 65) &t 7€ STt F1 mg\ﬁa; TEATT F¥ 3T "fﬁ'ﬁn
the question given below: T 97 T ITL

Sonu walked 20 m towards south, took right turn and - &t & aferr 7 #irx 20 ez i gft 77 £, fw amd e :r:

walked 30 m. Then, he took a left turn and walked 15 30 *ftex it gt @7 F1 < 8= ©F amat @iz frar sy S5

m. Again, he took a right turn and walked 10 m. 15 #fizz == % 387 v% Tt A1 forr &7 10 dfixn S

Finally, he took a right turn and walked 35 m. TF =T AT H, IEA TH ?mﬁ‘ e foram o 35 e $ .

How far was he from the starting point? T ag & o

st g et 37 2 &

A)30m Que

B)35m A) 30 izT i

C)40m B) 35 Hiex A

D)45m C) 40 ez B) |

D) 45 #iex C)l

D) ¢

66) Amit is the brother of Rajan and son of Kamal. 66) sifa, Toi= T WS 3T FAe FT T 2| THT, FH9 ____
Rakesh is the father of Kamal. How is Amit related to =1 faT §1 s T Trher & =47 §a 872 68)

Rakesh? ans\

A) Father : A) faar

B) Son B) Eigh

C) Grandson C) wrar :tr::

D) Uncle D) == neig

imm

is foi

Who

A)E

B) C

oL

D) E

“Page"
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67) Directions : Read the following statements and
answer the questions given below:

Radha and Rahul have two children Divya and
Simmi. Divya got married to Anuj, who is the son of
Madhu and Ramu. Reshma is the daughter of Anyj.
Anuj's sister suma got Married to Subodh and Tarun
and Aman are their sons. Tarun is the grandson of
Madhu and Ramu.

Question: What is the relationship between Aman
and Reshma ?

A) Uncle - Niece

B) Father - Daughter
C) Husband - Wife
D) Cousins

67) e Rafarfema ot 71 o sl f Ro 7o ot ¥
I E:

T A g F Y Ay & R o R Rem ¥ agw
& ot o oft, St ey e v v e ) ere e £ A
R T F¥ wwT T oy wEy ¥ g A A
AT IAF FT T qEOr Wy AT TR F NavATR )

T A ST 9T F = T g 827

A) =THT Ffisft

B) firar ft

C) afa weft

D) WA, FHY #TE- A7

68) Study the following information carefully and
answer the question given below:

Eight persons A, B, C, D, E, F, G and H are sitting
around a circular table each facing towards the
centre. H is third to the right of E who is an immediate
neighbor of D. E is second to the right of C. B is on

immediate left of G. D is second to the left of B who
is fourth to the right of F.

68) fRaferTeT EmTst #1 egE® Sreqas F¢ 37 Ay
g mu v F1 swe

as =RFA, B, C, D, E, F, G T H U% M 2a &
T AR &6 ¢ AT TAF =AfF Fg Fi AT gg FF 37 2
H, EFarft & & e €, 57t D &7 fAseaw a5r=ft &)
E, C ¥ i A & T8 ¥ X 1 B, G ¥ &% arff aww
HDBFTH AT, MFFIW I AT
gl

Who is fifth to the left of A? A ¥ qrdt & qi=at B9 §?
A)B A)B
B)C B) C
C)D Cc)D
D)E D) E
_P;_ﬂﬂ190f43
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69) Study the following information carefully and 69) Frafarfaa ST FT LATAYEF srearaa #¢ siw $iy
answer the question given below: R o gt F I ¥ o

Eight Persons J, K, L, M, N, O, P and Q are sitting 3z =1fz% J, K, L, M, N, O, P &% Q T# o= 3ae 3 the a
around a circular table each facing towards the =Y aire &% & =i I7H ¥ Tei% ¥z $t A< Uz +05 437

centre. P is not an immediate neighbour of K. Nis an 81 P, K #1 fAeaw 72Tt 7t 1 N, M &7 frseaw 1o Fact:
immediate neighbour of M. J is fifth to the left of K. M 21 J, K ¥ ard & gt=at 21 M, K aw J #7 RFeas 5 all ¢l
is not an immediate neighbour of Kand J. Mis onthe &f €1 M, P % &1 ar4f i 81 O, P %1 0% MFeaw a5y J doe

immediate left of P. O is an immediate neighbour of &1 L, J #T fseaw w2t 72 21 Only
P. L is not an immediate neighbour of J. N % ZTff < & i #1922 All ac
Who is fifth to the right of N? | less t
A) K A) K Judge
B) L B) L Jis i
C) O C) O
D) Q D) Q A) Tr
B) Fe

70) X is the sister of Y and daughter of L. L is the 70) X, Y fiaga sk LFr i &1L, SFram siews O Ur
brother of S and husband of W. P is the father of wfi & P, S a1 & Ry RsFeai # & Y framarw D) Im
S. Who among the given options, can possibly be Y's SI&/2a¥ §¥aa: F1 &1 95aT 57

mother's brother-in-law?

A) P A) P
B)L B)L
C)K C)K
D)S D) S

71) Joseph has three daughters and each daughter 71) Sire i ft7 TR § 3T TF Tt F OF ARG
has a son and a daughter. The family consists of only T3t 81 TRaR & Faw TE 9T E) TRER § Y 7

these members.How many male members are there fa &2

in the family?

A) 4 A) 4

B) 5 B) 5

C)6 C)6

D) 3 D) 3
Page 20 of 48 — Fage 3T
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?2) Read the list of facts displayed below and choose 73) 4y o wE qoy et Ay 9F AT AE AR AT

the appropriate conclusion:

Facts:

All claims handlers talk to customers

J does not talk to customers

Only administrators do not talk to customers

All administrators have been with the company for

less than one year

Judgement:

‘J" is a claims handler

A) True
B) False
C) Uncertain

D) Irrelevant

W

ey

Tt o Feerd et & aTq FLA B

' e & e AR FAT B

e Uefifrerer et & AT gt F

¥t D et 3 T o A T ERKGIEER ]

Ao
' TF FH g 8l

A) Tt

B) T

C) &l % T
D)ﬁ'a"ﬂ?r

@ifeﬁ

G-

mi\??"'bl
.l

3
t |}

\/

ool

5? ! II(B-&P
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73) Read the following information and answer the 73) fwifda g 9% @ A= Ru wat ¥ =9 &
question that follows: 74) Wh
take a (

The post of the Chief Security Officer (Male) of the feeft 3 AT HEATET ¥ qET AT Aftwy (Tew) 7y of twor
Naval Headquarters in Delhi is vacant. Applicants w& f<F g1 =4 ¥ o sr3est 7 Rwifea adf Frqm A) Bot

have to fulfill the following criteria for selection: FEAT AT B) Par
C) LC)

i) The applicant should be in the age group of 35-40 i) res 1 A9FET 2003 Fr 35-40 T F Ay G9g H A D) Prol

years as on 1¢ November 2003. In case the applicant =z ade® AR SC/ISTaf A AT g Fadr oy dvmn
belongs to the SC/ST category, the upper age limit is g aw za 44 T qF /AT AT 75) Stu:
relaxable upto 44 years. ii) FMAEF WAF LT AT TF ARG FAATL B the que
ii) The applicant should be a graduate and a service =fRal From h
personnel. i) Y S i) AT i) FT G FA AT S forf@d A= Then s
iii) Applicants satisfying both criteria i) and ii) are to F ¥ ol I Sl FEATEA turned

appear for a written test and clear it. iv) St saeE frfera st Sl Fom, 37 TF ardfs south
iv) The applicant who clears the written test should ST &T ARFw FF-ow F 9w wwr  gem and co
appear for a physical test and medical check-up. V) S rdeE AfRwE w9 ¥ fe qrT o 77 sfay How far
v) An applicant who is found medically fit is to go for HTHTEHIT ¥ forg s o siftw == ¥ g W & i
the final interview and clear it for the final selection. TTRITHIT T S FTAT grm g
vi) An applicant who has worked as a security officer vi) TF a¥eE R 1 felt gor aftsd S s A & 100
earlier is to be referred to the Board of Selection for F1 f&aT &1 3# sifaw aTATHTT FRuHmmITmaEF D) 120

the final interview directly. ‘ e A T s

vii) Applicants who do not meet the above criteria are  vii) ST araEE IUE aat F O T F o g AT

to be rejected. o e feT s 76) Stu
the que

Mr. J is 37 years of age as on 1% November, 2003. 1st 73 2003 ¥ oft J ¥ 317 37 A 1 IR AR Tejaswi

. and
He has passed the medical check-up but could NOT =&-d9 918 T forT a¥ ¥ i AT I T W nlkwa
walked
dear the final interview. He holds an M.Sc in @ S TrT e & wwomelt 1 ffi &: 3%

25m. F
Chemistry. He is:
m.
' In whigl
A) Selected A) =afaa T
B) Rejected B) sredtga FT e A) Eas
C) Referred to the Board of Selection C) =4 d1E F Y| AT ;T B) We:
; C
D) Data insufficient D) ¥ T 7E & ) Nor
D) So
Page 22 of 48 ,m
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74) Which of the following statements can be used to
take a decision on this problem: What is the product
of two natural numbers P and Q?

A) Both P and Q are multiples of 10

B) P and Q are distinct

C) LCM of P and Qs 37

D) Problem cannot be solved

78) B % & e | o gm awe o7 Fofr 349 ¥ By
ST fhr 7 et & <1 TrgfaE dent Pl Q #
T 7 &7

A) P 3R Q3T & 10 ¥ T &

B) P 3 Qs &

C) PdrQ#TLCM 37 &

D) &weaT g At Y oI Gl &

75) Study the given information carefully and answer
the question given below:

From her house, Geeta went 80 km towards east.
Then she turned north and covered 20 km. Then she
turned east and covered 20 km. Then she turned
south and covered 80 km. Finally, she turned west
and covered 20 km.

How far was she from the starting point?

A) 80 km
B) 90 km
C) 100 km
D) 120 km

75) & & srrerd &7 SATTEF AET T A A R
T T F7 I <

ST T A, ffar g & 80 Fwft wE b A S At A
e 1 3l 20 Rl Fr gt o A1 FRT I8 T T AT AT
A 20 el 6t ot g # e g FfRror A1 ST T AT
80 fireft £ ot ey o1 st &, iR T A HE 5, T
20 Tt 7 g o

g et fig F e 32 2

A) 80 km

-B) 90 km

C) 100 km
D) 120 km

76) Study the given information carefully and answer
the question given below:

Tejaswini walked 20 m toward north, took right turn
and walked 25 m. Then she took a left turn and
walked 10 m. Then, she took a left turn and walked
25 m. Finally, she again took a left turn and walked 5
m.

76) &1 T AAFRT FT LATTIEF ALAAT FL AR AH Y
T T T I

Forfeardt § ST T T 20 Hex i T qw fi, e
a1t e 25 He B g 73 Fh e ag arff ax gt
sir 10 e F T a7 Fh =, 399 v st @iz R
s 25 #e § T T M i §, 3o R F oF It
e for s 5 Hiex =

In which direction was she moving finally? s # g e e & 7 oy ot
A) East A) @

B) West B)

C) North C) I

D) South D) aferr
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77) Read the list of facts displayed below and choose

the appropriate conclusion

Facts:
All salespeople working In pension sales have an

insurance qualification

Defender Insurance Ltd sells only pensions and
employs salespeople

‘P’ is a salesperson working in pension sales

‘L' sells mortgages

Judgement:
All the salespeople at Defender Insurance Ltd have

an insurance qualification

A) True
B) False
C) Uncertain
D) Irrelevant

77)ﬁ%ﬂﬂ€mqﬁﬁqﬁaﬂ-{q@wﬁm
Ee

qo:

Yorg Few | HTH T AT At Few =T ¥ o v
ZOANH AT 2

Rer searia for. & Fa=r Yo a5t £ o sv% 1
Feq FHAET 2

P TF qeH FHATL B, S Yo e F A A
‘L 0T =T B

Ao
Rt d9qiiw 1. & w17 F27 arer =ft & wfefiaty
T T SEAIH THAAT B

A) Fgt

B) W&

C) 7%l #g a#d|
D) fagwa

78) Read the list of facts displayed below and choose
the appropriate conclusion

78) #= &1 7 ao T #1 9F @ gt fAewd F:r =T=w
L

Facts: GEZK
All salespeople working in pension sales have an e & & FTH A Tl T Foq FHATCAT % 916 TF
insurance qualification SeaTeE A &)
Defender Insurance Ltd only sells pensions and et deaiia fo. B A oA J=dt & ST oW FHAN
employs salespeople F1 s FTETE |
‘P is a salesperson working in pension sales P’ U% Fe AT g, S Jo Few A FWOFAT
‘L' sells mortgages ‘L’ T ST B
Judgement: fAss:
‘P’ has an insurance qualification P 3 T TF TR AT &)
A) True A)
B) False B) Trerd
C) Uncertain C) et Fg Tl
D) Irrelevant D) fawm
_‘:"-3_0;24 of 48 =
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79) Which of the following statements can be used to 79) fiys # & # &7 Fue & aweT 72 i 73 % fm
take a decision on this problem: Is 2P>Q? (If both P z&rmrer fbar w11 &t & #1 2P>Q 2 @ERPATQ

and Q are positive) T THTCTHT §)

A) P <q< pan="></q<> A) P <q< pan=""></q<>

B) P=Q B) P=Q

C)P+Q =100 C) P+Q=100

D) Problem cannot be solved D) ¥HeET gt AET I o1 wHAT &

80) Read the list of facts displayed below and choose 80) #= &t w§ T g #Y 7 o 7 AR #1owae

the appropriate conclusion. - I

Facts: =

‘M’ lives in a flat which is not insured ‘WM T we § @ e, S LI AR RIS
All the flats on Barrow Road areinsured with 3% Ts ¥ &sft weiei 1 e Hfemw F97 F 719 2
'Premium Cover' sy o et 0 T s e 1 e e
Mr and Mrs ‘J' insure their flat with ‘Platinum Risk £t a1y FTETET B

‘W lives in a flat on Barrow Road WA 3% o ®ie # @ 8l

Judgement: Ao

Mr and Mrs ‘J' do not live on Barrow Road sy T st U7 A e X AE @R

A) True A) F&1

B) False B) eI

C) Uncertain C) 7t % T4

D) Irrelevant D) e

~ C ) b
(7 = Q"-’ LCwviee ~~
Erge Ran—e_
L/w

Page 25 of 48



https://testbook.com/
https://play.google.com/store/apps/details?id=com.testbook.tbapp

17H

81) Given below a statement followed by two 81) ’ﬁ%@ﬂ?ﬂ?aﬂteﬁ%ma‘rﬁﬁﬁﬁfﬁqwﬁl 3fEe

conclusions. Choose which all

BT &1 s w3 fr e Rt fo o

conclusion/conclusions follow the given statement by e 7 HTECT FTAT Y B

selecting an appropriate option.

Statement: Mani likes dolls.

Conclusions:
|. Mani does not like video game

1. Mani hates riding.

A) None follows
B) Only | follows
C) land Il follows
D) Only Il follows

82) In the following questions, mark:

1, if statement | alone is sufficient to answer the
problem.

2, if statement Il alone is sufficient to answer the
problem.

3, if statements | and |l both taken together are
sufficient to answer the problem.

4, if statements | and |l taken together are NOT

sufficient to answer the problem.

How many votes did the winner received in an
election? (assuming none of the votes were invalid)
l. There were four candidates. The winner received
5,000 votes more than the one who received the
least. .

[I. The one who received the least votes_“ received
50% less than the winner,

A W Y ey g 3
A

. 7R Fr R i ez 7 2
. % it geerardt & 7w 21

A) F1E off srgaor TET Fear
B) &t | srgereor FaT 2
C) 1 A Il sregeeor F §
D) aer || aqEeor FaT 2

82) fafafaa w #, Hfeaa #¢:

1, A T | et &1 o %7 39 3 ¥ g aata 31

2, 12 FA7 || S T THEAT FT IAC a4 6 (o0 THTH g
3, af% & | ST || 1 |y Aerese, T9eT FT I e
% oo aatw 81

4, 2 F9 | 7 || gy AT, guer TS e & forg
ERILK F8]

T # fasrar 1 fraw 9w e (78 7 gu F
oY FTe AT AT A1)

. gATer ¥ = IRfteae a1 fasar w1 99 9 9E 9"
FF aTel & 5,000 ate srfae e

|I. F=E FH 1€ YTH FLA AT F, [&Foar & 50% F7 912

T gl

A) 1 L A1
B) 2 B) 2
C) 3 o
D) 4 D) 4
Page 26 of 48 S
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83) Study the following information carefully ang 83) Frafyferg ST 7 aTAgd ALATT 7t A
answer the question given below: Ru T it 3 g

Eight Persons J, K, L, M, N, O, P and Q are sitting sz 3y i |, M, N, O, P AT QTF FATH 239 &
around a circular table each facing towards the sy s 4% # sl gl A TAF ¥z ¥ A qE FF 421
centre. P is not an immediate neighbour of K. Nisan & p.  #7 fygeas a2t &1 1 N. M 1 fAsweaw 7=
immediate neighbour of M. J is fifth to the leftof K. M & ) k3 amt & qt=at 81 M, K s J 1 Aeaw w2t
is not an immediate neighbour of Kand J. Misonthe i &) m. p 3 & ardt @< 81 O, P F1 TF Aeaw
immediate left of P. O is an immediate neighbour of gt &) | J =7 fAweaw q2rdt 7@ &

P. L is not an immediate neighbour of J. J ¥ "y & M 7 e T 87

What is the position of M with respect to J?

A) Second to the left NEREEG
B) Third to the right B) 1@ & e
C) Second to the right C) amd & g&r
D) Fifth to the left D) 91 & =i

84) Study the given information carefully and answer 84) €t € ST=TEr 1 SATAqEF e w1 A A= Ry
the question given below: T P FT IS

From her house, Geeta went 80 km to the east. Then s ST &, Tfiar o % 80 et ) fh ag I # A
she turned north and covered 20 km. Then she = s it 20 Fft Frglram £ e ag @ A A ST
turned east and covered 20 km. Then she tumed 3t 20 fmft it 7& 7@ #n F 78 Zferor it & gt iR
south and covered 80 km. Finally, turning to the west, 80 it #1 oft o i, afEw £ A7 qEd g, 39

she covered 20 km. 20 fft ft g g
In which direction was she moving now? e 7g e Ren & ag & A2
A) East AT
B) West  p)Rm
C) North C) 9%
D) South D) farr
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85) Which of the following statements can be used to 85) fArer & F #1 a7 Fu 70 GEET T [T 79 F fyy

take a decision on this problem: How many sons START Ry o1 T & 0T F R O §7
Farid has?

A) Farid has three daughters A) wz i di= afeai §

B) iz ff s IRAT H A grum AT A ATE E
C) iz % a2t #i drear sa1 Afet fraem A AFAE
D) Fwam gt et it o7 At §

B) Each of Farid's four daughters have two brothers

C) The number of sons Farid has is two less than
the number of daughters he has

D) Problem cannot be solved

86) The famous Sanskrit treatise Lilawati, is written 86) sRig wepe 7 wfemadt, fra fw < forar @1 22
on which subject?

A) Civics A) TR o
B) Geography B) e

C) Mathematics C) wrforg

D) Economics D) srdfsmmer

87) Which of the following is NOT a fat soluble 87) fraferfra # & #tw &t & gemdier Ferfaw 7gf 82

vitamin?

A) Vitamin A A) fErfaT A
B) Vitamin D B) faerf@w D
C) Vitamin B C) faafaw B
D) Vitamin K D) A K

88) Identify the name of World's first scientoon book 88) 3@aT 2020 # wTHY, "TEzfAwe =f. Wiy ey

written by scientoonist Dr. Pradeep Srivastava g feifem fooa it wgeft amiza qeaa wr qEETH|
released in October 2020.

A) Rest in Peace Covid A) T 7 fim Fifae
B) Bye Bye Corona B) &I &TH FHITHT

C) End of COVID 19 C) Uz 3% COVID 19
D) Good Bye Corona D) T[E I FIHT
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g9) "Scientists have discovered the remains of 89) “Asrfaat 3 wrera STTRY ¥ Had G AT AW F
humankind's oldest mammal ancestor - namely sy # ot it & BT AT AR AT AT B

Duristotherium newmani that lived 145 million years <Y 145 faferger af wger shifae 1| 30 @ae # @t faweq
ago". Choose the CORRECT option in this regard. 7

A) A tiny rat-like creature

A) TF gz & 3 61 acg ot
B) A tiny squirrel-like creature B) u% @ fergdt €t avg woft
C) A tiny dinosaur-like creature C) UF &1 TraATE Hit aTg qroft
D) A tiny ape-like creature D) U & & ¥ fit g yroft

90) How is 'Gaganyaan' related to Indian Space 90) 'wraar' wrcda siafre Friwa & 4 dafa 32
Program?

A) Itis India's first communication satellite A) Tg T FT ggeT HATC ITIE &

B) It is a Global Positioning System developed by B) @ ISRO gIT far e U weiiarer Tiforertm forez &
ISRO C)qgmmqgﬁTﬁ%QﬁWﬁﬁﬁHﬁm%

C) Itis India's first indigenous human space mission D) ¥ geeTfat a |Ted BT qgAv e 3

D) It is India's first mission to Jupiter

91) In which range is the famous peak (K2) Mount 91) S&& i (K2) "z wefam siea B e &

Godwin Austen located? Ry g?

A) Pir Panjal range A) i e @
B) Ladakh range B) srgT@ H@T

C) Karakoram range C) FUEHITH @1
D) Zanskar range D) SITe @t

92) Which of the following is NOT related with 92) ferfam B & Rwfarfem § & = ar gefoa 8 87
Vitamin B?

A) Ascorbic acid A) TERRRE T
B) Thiamine B) amattH

C) Ribofiavin C) TredTenas

D) Niacin D) ATt
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93) Which anti-inflammatory drug was used 93) AT & WAR ¥ 3o ¥ v A oA dwn
extensively for treating cattle in India, found to be =7 =y TYF ® F AN BT oA A, A RS

lethal for vultures leading to their rapid decline in T s qreft 78 R Freor o% wmaTd & 0 3

population? e s
A) Erythromycin

A) Ttvimreeia
B) Streptomycin B) ®r<mrzfam
C) Diclofenac C) T AT
D) Penicillin D) YR

94) Who among the following famous singers was 94) fRmfarfas wfag mast & ¥ B geona<a o

posthumously awarded Padma Vibhushan Award- fasuwr qeessre-2021 & wwmfaa fam mm?
20217

A) T. M. Soundararajan A) &. ur. "igeasH
B) Wajid Khan B) aiforg &=

. C) S. P. Balasubrahmanyam C) uH. ft. arergersvasw
D) Bhupen Hazarika D) o g

95) When Mangal Pandey turned rebel, he was a- 95) 5 wre wi 3t &1 1, ot a7 34 ¥ 77 T

sepoy in the 34th Native Infantry Regiment that was XfSriz & U el 7, 7 e s o g am?
stationed at which place?

A) Lucknow A) @S5
B) Ballia | B) aferar
C) Barrackpore C) I&FR
D) Meerut D) #%5

96) The successful land revenue system of Akbar is 96) 3I%aT N AT qIwE A AT I

attributed to which of his nobles? fArafrfe # ¥ e 99 g st & smarg?
A) Birbal A) fims
B) Raja Man Singh ' B) T w1 &g
C) Raja Todar Mal C) TIT 2T e
D) Khayyam D) @@
g
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97) Where is the famous Virupaksha temple located? 97) wfarg faeaer #iaT FgT feera &7
" A) Halebidu

A) Eafag
B) Papanasam
B) gToHTEH
C) Badami A
)H 7
D) Hampi
D) gvft

98) Which state assembly of India passed 98) wrea it o Trow e 7 2020 #, 7w ¥ g

'Decentralisation and Inclusive Development of All = TR (Fremft, s s =nfas) w1 gam
Regions Bill' in 2020 proposing three capitals F¢x 8T At ey a?r,ﬁ%‘s.‘hrcur dx maraeft e
(Legislative, Executive and Judicial) for the state? i urfie B

A) Andhra Pradesh

A) Hig Taer
C) Punjab OREIC]
D) Madhya Pradesh D) wex waer

99) Which of the following is a refrigerant that is 99) Fwrfefea & & ag #1= a1 Tfioiiz & s s

commonly used in a domestic refrigerator? T IORIE ® I9gnT T s 82
A) Freon A) %At

B) Oxygen _ B) siferitorT

C) Sulphur C) T

D) Nitrogen D) ATEgISH

100) What is the average duration of time taken by a 100) 7 e g f g 9 X W
newly developed world's shortest X-ray laser pulse, e T forg T wHA $i shaa srafy w7 , S EH it
that will allow us to observe electrons in slow motion? 7 & Zoretl & frderor w0 it sy T?

A) 63 attoseconds A) 63 attoseconds

B) 53 attoseconds B) 53 attoseconds

C) 43 attoseconds C) 43 attoseconds

D) 33 attoseconds D) 33 attoseconds
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101) Which of the following mountain ranges is also
called as Sahyadri?

A) The Eastern Ghats

B) The Western Ghats
C) The Satpura Range
D) The Vindhya Range

101) PrerferfRr # & fier o e F1 g[Tal el Smar
&

A) Tt =T

B) gfnft ez

C) wageT e

D) faex s

102) When the roots of a plant move downwards in
the direction of gravity, it shows

A) thigmotropism
B) positive geotropism
C) negative geotropism
D) chemotropism

102) v iy it wr¥ Eerwor A Rer & f 7 a7
aadt §, a7 7z F4T et §2

A) R s

B) F#rarews fSrargrdiem

C) Frerens Srargrdis

D) Furgifasn

103) Who among the following was the first Sultan of
Delhi?

A) Mohammed Ghazni
B) Qutub ud-Din Aibak
C) Alaudin Khilji

D) Aaram Shah

103) fRaferfea & & Rt F1 78« gear F17 917

A) FIFFE TSI T

B) Fq9-3%-419 UaF
C) sraTae i st
D) SIrTHeITE

104) The Pong dam is constructed on the Beas river
in the state of

A) Himachal Pradesh
B) Madhya Pradesh
C) Uttar Pradesh

D) Bihar

104) Wi a7y e T § |qTH AL 9T I @ 37

A) femmae w_er
B) WET WaeT

C) 3T W_er
D) faem
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105) Heavy water is generally used by which of g
following industries?

A) Paper factories
B) Automobile manufacturers

C) Sugar factories

D) Nuclear power generation plants

e,

106) What is the name given to the section of the

Himalayas stretching between the Kali and the Tista
river?

A) The Punjab Himalayas
B) The Kumaon Himalayas
C) The Assam Himalayas
D) The Nepal Himalayas

L —

105)mﬁwﬁmaﬁwtﬁﬂﬁﬁ“”ﬁ“mm

RUIRT AT ST 7
A) Y ¥ HreET

A fa g @7

REICREC IR
B) F#s; Rurera
C) sww Barera
D) arer FRurera

107) Who among the following was one of the major
leaders of the Bhakti Movement in Medieval India?

A) Shankaracharya
B) Kalidasa
C) Swami Vivekananda

D) Swami Dayanand Saraswati

107)wwﬁwmﬁﬂﬁﬁm%maﬁamﬁﬁ
qTF A AT?

A) g

B) FferaTe

C) Tt fAasrar=

D) @t gaTR wTEEdt

108) GSLV-F10 of ISRO is an upcoming mission to

108) ISRO #T GSLV-F10 Fafofeg # ¥ Fan &

explore which of the following? T T o T TF et fver 2
A) Mars A) T-T‘T?T g
B) Moon B) =&HT
C) Sun c)w
D) Mercury D)d4
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109) Which among the following options is one of the 109) Frsfarfare # & Fi= a1 e wferaT- A & &
largest domestic communication satellite systems in 1983 # s it 7 Fad 72 T A ITAZ TorTTAT

Asia-Pacific region commissioned in 1983 and

provides services to telecommunications, television
broadcasting etc.?

A) Aryabhatta
B) KALAMSAT
C) Bhaskara
D) INSAT

# & ux & o g, FhfEem saer A 71 aE
ST FLaT 57

A) sz
B) KALAMSAT
C) AT
D) INSAT

110) Which of the following is a S-Band Synthetic
Aperture Radar satellite launched by ISRO for forest
mapping, land use and ice cover monitoring, flood
and disaster monitoring?

A) IRNSS-II

B) Megha-Tropiques
C) NovaSAR

D) IRNSS-I

110) =A% & F7 &7 UH - = REART Tk TR SR §
S ISRO grT wivee &ffr, gffr syan =i smea a1
R, a1z s sraeT At & fore wafee R T

&7

A) IRNSS-II

B) Megha-Tropiques
C) NovaSAR

D) IRNSS-I

111) Who among the following introduced the theory
of the "bicameral mind"?

111) Rufafes & ¥ e adae oz F Rga f
IR

A) Fritz-Karl Winkler A) hzs-at e

B) Julian Jaynes B) stferaw S

C) Frederick Sanger C) hefiw &

D) Douglas Hofstadter D) ¥ EIHEEeT
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112) Who was the First Indian woman to get her M.D
from USA and practiced in India as a physician, as
per Kashibai Kanitnark's biography?

A) Durga Banerjee

B) Sarla Thakral

C) Kadambini Ganguly

D) Anandi Gopalrao Joshi

112) wrefraré Ffvaren $ it F TTAT AT T
TR & et e Y AT et A AfRe At
ot she g, vy s P & X A X A
@t ft?

A) gt Feff

B) #7eT 24

C) FafParey rivpeft

D) st wrrercrar sieft

113) Who among the following was appointed as the
Chairman of the Simon Commission ?

A) Lord Mountbatten

B) Lord Irwin

C) Clement Attlee

D) Sir John Allsebrook Simon

113) FraifRrfRre 7 & fer =116 1 ATEHT T F e
92 9% R R 3T 91?2 '

A) 1€ AracdzT

B) @f€ s<fa=

C) FHe Uzt

D) 9% SIiT AreHa® q1zH4

114) Who among the following has been appointed
as the new Chief Election Commissioner of India in
April 20217

A) Sushil Chandra

B) Rajiv Kumar

C) Sukumar Sen

D) Anup Chandra Pandey

114) FrafrfaT & & B ¥ 2021 & G ¥ 70 7=
gﬁﬁﬂrg?ﬁ%wﬁﬁ'g?ﬁﬁ?mwﬁ?

A) gefier ==

B) Trsfta T
SEFECRIER]
D) gFHTR &9

115) Which of the following countries holds the
Chairmanship of ASEAN for 20217

115) FRafaf@d # & F¥7 |1 291 2021 F v ASEAN
STETETT FT BT 872

A) Singapore A) g
B) Brunei B) e
C) Philippines C) et
D) Vietnam D) fawa
“Page 350148
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Hill Dam constructed?
A) Damodar

B) Mahanadi

C) Krishna

D) Luni

117) Which part of the human body is affected in
Alzheimer's disease?

A) Heart
B) Lungs
C) Brain
D) Ear

117) srestrgae 2T # AT o6 F7 F19 aT Be gt
T 82

A) &=

B) ¥z

C) nftass

D) &

118) The pass which connects Indian state of Sikkim
with China's Tibet Autonomous region and forms a
part of an offshoot of the ancient Silk Road is

A) Shipki La pass
B) Nathu La pass
C) Zoji La pass

D) Muling La pass

118) 38 7wl F7 @1 § St Wiy vy Rgm Fr AT S
s Tama & & sivgan £ e e AeF Ae f wF
SemaT F1 e a9ar 82
A) foradf @ a7d

B) AT &1 g
C) St &7 &2

)

D) gfeiT @

119) What is Enovid-10?

A) World's first commercially produced birth-control
pill

B) The first domestic robot developed in United
States of America

C) The first bullet train inaugurated in Japan

D) World's first Mini computer developed by IBM

119) Enovid-10 Fa1 2?

A) AT it ggelt aEETEE &9 4 gared w Fo
et

B) €Y= TeT AHRFT # FAwaa vger sig Tare
C) SITIT ¥ Igfeq Tget qote o
D) IBM g e gfiar 1 ager fast degex
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120) Identify the scheme undertaken by the 1) oo o000 s, Tror F1 *I UEWFP‘ arfafedt
Department of Food and Public Distribution {0 ensure AR sy ¥ fore, W ¥ 28 st B AR A TE, @r

nationwide portability of the ration card and has been sji¢ At fracor AT &40

o 1 T T A

implemented in 28 states of India as of November TEAT

2020.

A) One India Card scheme

B) One Ration Card Across India scheme
C) One Nation One Ration Card scheme

D) One Ration Card One India scheme

A) TF T FTS FrerAm
B) Tt W 3 e Trerd FrE A

C) T 1y s T FTE AT
D) T TrereT i T ST AT

121) In Excel, every formula starts with
A) equal symbol

B) plus symbol

C) at the rate symbol

D) less than symbol

121) TF &, gﬁmm%m%@?f%
A) FTET F1 R

B) =& T e

C)wa e feA

D) &% & fe

122) Which among the following is a software
program that enables internet users to access,
navigate, and search World Wide Web sites?

A) Cookie
B) Firewall
C) Browser

D) Database

122)ﬁ'ﬁﬁrﬁ§?rﬁiiraﬁ?mﬁwm,ézﬁz
ST Fr er T aTed A9 ATl aF uga, e
FOF % @ret FEA H qETH FATAT 87

A) T

B) wTHTATA

C) AT

D) ¥

123) Excel sheets, Word processors, Web browsers
are examples of

A) System software
B) Application software
C) Software manual

D) Programming language

123) TR dfigq, 9¥ TR, 3T Ao TER F
TR &7

p) Rzt ST

B) wfteherd T

C) wiweaaT AT

D) shrarTfeT St
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124) Hangouts is a communications platform that 424) #ergz ws dame #= & ot fAfRAT Fifer, atag
combines video calling, voice calling and text-based iRt s Yaez-amenfra G2 7 TF &1 9T & SAT=AT B
messaging into a single service. It is developed by: 77 fasfyg (Farerm) fam &

A) Oracle A) Arae g
B) Google B) gt gamr
C) IBM C) IBM gara
D) Apple D) weger gaT

125) Which of the following refers to an object hiding 125) frsfrfae # & Fiwa wferee F Gafad FL9 &N

its attributes behind its operation? B sy Hee ¥ Y ot AT fRare T@ar 87
A) Polymorphism A) it

B) Encapsulation B) U=hegei e

C) Inheritance C) stz

D) Class D) #=TH

126) In MS Excel, what does the option 'Merge 126)ATsFIETTe U= &, "Wl UHIE fawed F47 FL9T1 87
Across' do? A) 5TF UF Hedl-T o Aeige am JraT 8, a7 98 FHiS
A)When a multi-row range is selected, this  woi% #fow ¥ U v wediaer asf &= F1 Fwfo
command creates multiple merged cells, one for FATE
each column B) W&l UF Heel-U o ¥ fahar Smam €, ar ag w9
B) When a multi-row range is selected, this S I & forg us wediaer ast &= &7 ffor war @
command creates multiple merged cells, one for  C) 5/ u# w=-O I fae fgr siam §, &Y a8 wwie
each row ¥ft T & g o wediaer vt & F1 Ao Far g .
C)When a multi-row range is selected, this D)sa us 7ed8l-0r I Geiee ¥ Smar 2, @ 7g T
command creates one merged cell for all the e 1 ¥ fre giwr wodtaer wot e 1 forsfor wza
rows
D) When a multi-row range is selected, this
command creates multiple merged cells, five for

each row
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127) What does Bcc stand for in Email?
A) Bulk Custom Copy
B) Bring Create Copy
C) Blind Carbon Copy
D) Blind Create Copy

127) €31 ¥ Bee F1 #41 34 87
A) TF F2q Fidt

B) fifr fkuz =ift

C) sATE® FTe FIdT

D) s=rge fkge it

128) Which of the following involves the execution of
various tasks, such as creation of processes,
scheduling of processes, management of deadlocks
and termination of the processes?

A) Memory Management
B) Process Management
C) File Management

D) Device Management

128) Rrarferfera & & Rt R wrat F1 Freare arfas
&, 3 wharsi #r fwtor, sl w1 Rator, T &
warer sy widarer 1 aarfa?

A) T faeTiE
B) e &t
C) ®TEd HAWTHE
D) fRamw &7z

129) Which of the following fields is/are available in
an Email header?

(i) From

(ii) To

(iiii) Subject
(iv) Save

A) (i), (ii) and (iii)
B) (ii), (iii) and (iv)
C) (i), (ii) and (iv)
D) (i), (iii) and (iv)

129) Refafla & & 17 aU/@ Hies I 32T H Iuereg
R

(i) From
(i) To

(iii) Subject
(iv) Save

A) (i), (i) 3 (i)
B) (ii), (iii) 3 (iv)
C) (i) (ii) 3 (iv)

D) (i), (iii) 3 (iv)
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130) Which of the following functions is done by a 130) fawfrfara # & FA-a7 FT4 / af=TET ATSHIE
Microphone device? SUFI ZTT HOH BT 27

A) Converts sound waves into electrical signals A) =3t gt #1 faege @%d1 4 aqfafda F@ g

B) Draws lines or figures on a computer screen B) #wqev e ¥ YaTd A7 AFiaAt aArar 2

C) Detects alpha numeric characters printed or C) U et g7 & 47 ford ¢ W.—{aﬁq;avﬁmqa-r

written on a paper T
D) Reads bar codes and converts them into electric D) a1z e 7 7241 & 3T 3= (32 9od § Tafq
pulses FET %

131) Which of the following options is a service that 131) fmfafag # & 7 a1 fFFeT vF &1 & S
allows the user to send a message in electronic mode ITHRTFAT T T27HT IT TAFIAF GIe H G2 Joid Hit

over the internet? e ver #ar 27
A) Email A) T3

B) SMS B) SMS

C) Speed Post C) iz gr=

D) Register Post D) ez O

132) In an Email address, which of the following 132) $#e usw ¥, fwfearfea § 4 g Reg #1 Sugm

symbols is used to separate the username and the FTF THT AH T STHA AH FT T AT 1T 272
domain name?

A)! A) !
B) # B) #
C) & C) &
D) @ £ D) @

133) In MS Excel, which of the following cell formats 133) ATewETw T &, Fraferfae do et & & #19

should be used for exponential data? T TFATHINS 327 % fore sugin e str =nfRe?
A) Fraction INR: =G

B) Special B) Ty

C) Scientific C) ®TEfefth®

D) Custom D) #&H
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134) In MS Word, to set the gutter margins, which of 134) wrzgrate a2 #, 7 qrfer @2 F F fo,
the following positions are available in the 'Gutter Rrwfafea Rgfa # & ®iT a1 Tl qifsrerT ate &

position' box? Iy g7

A) Left and Right A) A% TT 5T
B) Left and Top B) fwe UT 2i7
C) Left and Bottom C) 9%z Ug afew
D) Right and Top D) Trge dz 27

135) Which of the following is NOT an impact printer? 135) fsfarfere # & &1 UF 3% feT T8 3?

A) Drum printer A) 37 fiex

B) Dot matrix printer B) stz #feF fifex

C) Ink jet printer C) &Fvie e

D) Daisy wheel printer D) esft =ter fifex

136) What is the full form of E-mail? 136) E-mail F7 g1 &7 F7 87
A) Extreme Mail A) TFdH A

B) Electric Mail B) g A

C) Electronic Mail C) S IfAT A

D) Extraordinary Mail D) TgTifEady A=

137) Which of the following means attaching a 137) Fefofaa # & e 7aaa @ rgq 9 529 g9

message to a method at run time? FCAT 87

A) Static Binding A) wfew argfET

B) Messaging B) #af

C) Dynamic Binding C) sTaafas argfET
D) Association D) srEfqe
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138) Binary number system is also called as the
A) base-2 number system

B) base-8 number system

C) base-16 number system

D) base-10 number system

139) Which of the following types of memory must be
continually refreshed in order to maintain the data?

A) PROM
B) SRAM
C) DRAM
D) ROM

138)wﬁwm?ﬁ@fﬂ€*ﬁﬂ%g
A) I 2 wrr qurTet
B) 3% 8 gy sorret
C) 3% 16 wear yorreit
D) &% 10 g yorreft

139) Xey 7y g 7@ ¥ oy, PrafafRa & & R v
F A iy s Sner far T ATRY?

A) PROM

B) SRAM

C) DRAM

D) ROM

140) Which of the following devices is used to print
very large drawings or complex line art by
mechanical movement of a pen or other instrument
across the surface of a piece of paper?

A) Line Printer

B) Ink jet Printer

C) Scanner

D) Plotter

140) Frifa & & fra IusHwor 1 ggeT BT 99 a7 3w
IYFL ¥ TF FOS & IHE F Adg I A10AF qfQ G
qAT T2 Gl AT Tl e A FY e FA #
ST 82

A) aTzH fiex

B) <% Stz fifex

C) &%

D) wifeT

141) Which one of the following is the binary
equivalent of decimal number 1477

141) Rafefaa & & =19 a1 a1, gomeT &5 147 5

FEC g7

A) 10010011 A) 10010011
B) 10011011 B) 10011011
C) 10110011 C) 10110011
D) 10001111 D) 10001111
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142) A process requests resources, if the resources 142) us yfar darsrt 71 FT0T ot 8, IR IT AT
are not available at that time; the Process enters a  surym gyerasy 7 &; wikar sreftem 1 feafd & qAq FA
waiting state. Sometimes a waiting Process is never #| sft.avft sty whar Fft HY T F T F
again able to change state, because the resources it mery 7 areft &, FF TEF G e et #
has requested are held by other waiting Processes. s ey wfarsit T Arafor 4T 7T 21 7z gy

This situation is called a FAT TR § ?

A) Preemption A) freqer

B) Mutual exclusion B) e v
C) Deadlock C) F==ts

D) Circular wait D) afeRaT

143) Which storage medium is fastest and 143) F7-a7 SIS AT qEY I AT A 27
expensive?

A) Hard disk A) T Rew

B) Read only memory B) i st aa Y
C) Random access memory C) ¥eu W™ A
D) Cache D). %

144) Which of the following is NOT TRUE about 144) frafafatifya & & $19 RAM () F IR & @t

RAM? i

A) RAM stores the data permanently even if the A) RAM () Fge< ¥ 9% g ux o TeT wr T =
computer shut down. A ERFATE

B) RAM is mainly categorized in to two types SRAM  B) RAM (o) #1 qEaa: SRAM 3iT DRAM, &1 w# §
and DRAM aeffepar favar AT &

C) RAM is a read/write memory C) Ram (&%) T ds/rse 3urdt &

D) RAM s the internal memory of the CPU for D) RAM (&) 3T, T iR S Reree :E @) s

¥ frg CPU #t atrafis aurdy &1

storing data, program, and program result.
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145) Which social media site primarily provides g 145) =¥ ot drerer Hif2aT 9152 &I F FgFRaT T F
way to connect with professionals around the wor|qg T T FT T T Yo FdT 8, o Rt
and is specially designed for exchanging knowledge, Ry =7 & 317 797 A=Y FT ATE-IEH F dx
ideas, and employment opportunities? ﬁ'ﬂTn'-: ¥ sraare far w0 ¥ forg Rrar U
A) Facebook A) ¥
B) Instagram B) Sarumy
C) Linkedin C) free
D) WhatsApp D) =greerey

146) Select an absolute cell reference. 146) Tawtege I TR T
AYIA A) 1A11
B} A1 B) $AS1

C) #att1 C) #a#1

D) A1 D) A1

147) Which drive is made up of series of circular 147) #7-#t g12a, @ex AT g 65 7 5@ &

disks called platters? AT greft 272
A) Floppy disk drive A) 1T oo g
B) Solid state drive B) wife 87 Tra

! C) Hard disk drive C) s Re= grxw
D) Static disk drive D) wfew e gz

148) In MS Word 2016, by default the height of the 148) THU® a%¥ 2016 #, Rwive =7 & 3T $q SeT AT

drop cap letter extends to ¢ T FY FATE TRt qF BT 22
A) 3 lines into the paragraph A) TCTITE & 3 T3 %
B) 5 lines into the paragraph B) T # 5 w15 a%
C) 2 lines into the paragraph C) T § 2 A1EH 9%
D) 4 lines into the paragraph D) & # 4 #TEA a%
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149) Which of the following types of scanner reads 149) fasr # & & THT1T T ERAL T = Ft @grar
characters, marks and codes with the help of a light & f, 3= s re wga & sl wfart it # A
source and they are used for objective type answer w#w ¥ gwe WAl F T ITH gqanT AT S g2
papers in competitive examinations?

A) Optical Character Recognition A) FitfRwer FiaeT fopifaaa -

B) Optical Mark Recognition  B) aiftewe arh AT )

C) Optical Barcode Recognition C) itferser arcare RepifaerT ; .
D) Magnetic Ink Character Recognition D) i g% Faex Riaa =

t

)

150) Which one of the following options extends 150) Frafarfera & & F |7 AFer afe® At T
private network across public network, enables users STS3 Fea T faeT< FLaT 2, TAATHATA A ATE AT
to send and receive data across shared or public qfer Yo T e AeT A ITH T H g qArr 2?

networks? s
A) Local Area Network A) FiF TRaT Aza & \
B) Virtual Private Network _ B) agere T4 A2qS

C) Enterprise Private Network C) TeTSTES MRS A2+

D) Storage Area Network oy~ D) & ufT qead

S 5

: L
Jdeom™ &b& € b &
~ I
B
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